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 CLASS X          Code No. 
• Please check that this question paper contains 10 

printed pages.  
• d`i;k tkWap dj ys fd bl iz’u&i= esa eqfnzr i`"B 10 gSA 
• Code number given on the right hand side of the 

question paper should be written on the title page of 
the answer-book by the candidate.  

• iz’u&i= esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk= 

mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA 
• Please check that this question paper contains 30 

questions. 
• d`i;k tkWap dj ysa fd bl iz’u&i= esa 30 iz’u gSA 

General Instructions: - 
1. All questions are compulsory. lHkh iz”u vfuok;Z gSaA  
2. The question paper consists of 30 questions divided 

into three sections A, B ,C and D . Section A contains 10 
questions of 1 marks each, Section B is of 5 questions of 
2 marks each, Section C is of  10 questions of 3 marks 
each and Section D is of  5questions of 6 marks each. 

         iz”u&i= esa 30 iz”u gSa tks pkj [kaMksa A, B C rFkk D esa ck¡Vk 

x;k            gSA [kaM A esa 10 iz”u izr;sd 1 vad Lrj dk gS, [kaM 
B esa 5 iz”u izR;sd 2 vad Lrj dk gS] [kaM C esa 10 iz”u gSa tks izR;sd 3 
vad Lrj dk gS vkSj [kaM D esa 5 iz”u gSa tks izR;sd 6 vad Lrj dk gSA  

3. All question in section A are to be answered in one 
word, one sentence or as per the exact requirement of 
the question . [kaM A ds izR;sd iz”uksa dk mRrj ,d “kCn vFkok ,d 
okD; rFkk iz”uksa ds t:jr ds vuqlkj mRrj nsaA   

4. There is no overall choice. However, an internal 
choice has been provided in 1 questions of 2 marks each 
t3 questions of 3 marks each and two questions of 6 
marks each.bl iz’u&i= esa dksbZ Hkh fodYi ugh gSA fQj Hkh 2 vad ds 

1 iz’uksa esa] 3 vad ds 3 iz’uksa esa rFkk 6 vad ds nks iz’uksa esa vkarfjd fodYi 

fn, x, gSA 
5. Write the serial number of the question before 

attempting it. iz’u gy djus ls igys mldk Øekad vo’; fy[k nsaA 
6. In question on construction, the drawing should be 

neat and exactly as per the given measurements. jpuk ds 
iz’uksa esa jpuk LoPN rFkk nh xbZ ekiksa ds vuqlkj gksuh pkfg,A 

7. Use of calculator is not permitted. However,  you may 
ask for mathematical tables. dSYdqysVj ds iz;ksx dh vuqefr ugh 
gS] tcfd xf.krh; lkjf.k;ksa dk iz;ksx dj ldrs gSA 

MATHEMATICS 
Time Allowed : 3 hours           Maximum Marks : 80 
fu/kkZfjr le; % 3 ?k.Vs                     vf/kdre vad % 80 

SECTION A 
[k.M v 

 Questions number 1 to 10 carry 1 mark each. 
 ç”u la[;k 1 ls 10 rd çR;sd ç”u dk 1 vad gSA 

1.Write a rational number between 2 and 3 . 

2  rFkk 3  ds chp ,d ifjes; la[;k fyf[k,A 

2.Write the number of zeros of the polynomial y = f(x) 

whose graph is given in Figure 1. 
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vk—fr 1 esa cgqin y = f(x), dk vkys[k fn;k x;k gSA mlds “kwU;dksa dh 

la[;k Kkr dhft,A 

x'

y

x
O

y'  
Figure 1 

3.Is x = -2 a solution of the equation 2 2 8 0 ?x x− + =  

D;k x = -2 lehdj.k 2 2 8 0x x− + =  dk gy gS \ 

4.Write the next term of the A.P. 8, 18, 32, ........ 

lekUrj Js<+h 8, 18, 32,  ......... vxyk in fyf[k,A 

5.D,E and F are the mid-points of the sides AB,BC and CA 

respectively of ABCV . Find 
( )

( )

ar DEF

ar ABC

V

V . 

 f=Òqt ABC esa Òqtkvksa AB, BC rFkk CA ds e/;&fcUnq Øe”k% D, E 

rFkk F gSA 
( )

( )

ar DEF

ar ABC

V

V  Kkr dhft,A 

6.In Figure 2, if 40ATO∠ = o , find AOB∠ . 

 vk—fr 2 esa] ;fn 40ATO∠ = o , rks AOB∠  Kkr dhft,A 

A

B

TO

 

7.If sin cosθ θ= , find the value of θ . 

 ;fn sin cosθ θ=  gS] rks θ  dk eku Kkr dhft,A 

8. Find the perimeter of Figure 3, where ¼AED  is semi-

circle and ABCD is a rectangle. 

vkd`fr 3 dk ifjeki Kkr dhft, tgkWa ¼AED  ,d v/kZo`r gS rFkk 

ABCD ,d vk;r gSA 

20 lseh

14 lseh

A

B C

D

20 lseh

 

9. A bag contains 4 red and 6 black balls. A ball is 

taken out of the bag at random. Find the probability 

of getting a black ball.               
 ,d FkSys esa 4 Ykky rFkk 6 dkyh xsansa gSaA FkSys esa ls ,d xsan 

;kn`PN;k fudkyh xbZA ,d dkyh xsan ds fudyus dh çkf;drk Kkr 

dhft,A 
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10. Find the median class of the following data : 
 fuEu vkWadM+ks dk ekf/;dk oxZ Kkr dhft,% 

   

Marks 

obtained 

0-

10 

10-

20 

20-

30 

30-

40 

40-

50 

50-

60

Frequency   8   10    12   22   30   18 
 

SECTION B 
[k.M c 

 Question number 11 to 15 carry 2 marks each. 
 ç”u la[;k 11 ls 15 rd çR;sd ç”u ds 2 vad gSA 

11. Find the quadratic polynomial sum of whose zeros is 

8 and their product is 12. Hence, find the zeros of the 

polynomial. 
 og f}?kkr cgqin Kkr dhft, ftlds “kwU;dksa dk ;ksxQy rFkk xq.kuQy 

Øe”k% 8 rFkk 12 gSA vr% cgqin ds “kwU;d Kkr dhft,A 

12. In Figure 4, OP is equal to diameter of the circle. 

Prove that ABP is an equilateral triangle. 

 vkd`fr 4 es] OP dh yEckbZ o`Rr ds O;kl ds cjkcj gSA fl) dhft, fd 

ABP ,d leckgq f=Òqt gSA 

A

O

B

P

 

13. Without using trigonometric tables, evaluate the 

following: 
 f=dks.kferh; rkfydkvksa ds ç;ksx fcuk fuEu dk eku Kkr dhft, % 

 2 2(sin 25 sin 65 ) 3(tan 5 tan15 tan 30 tan 75 tan 85 )+ +o o o o o o o  

14. For what value of k are the points (1,1), (3,k) 

and (-1,4) collinear ? 

    or 

 Find the area of the ABCV with vertices A(-5,7), B(-4,-

5) and C(4,5). 

 k ds fdl eku ds fy, fcUnq (1,1), (3,k) rFkk (-1,4) lajs[k gSA 

    vFkok 

 ABCV  {ks=Qy Kkr dhft, ftlds “kh’kZ A(-5,7), B(-4,-5) rFkk 

C(4,5) gSA 

15. Cards, marked with numbers 5 to 50, are placed 

in a box and mixed thoroughly. A card is drawn 

from the box at random. Find the probability that 

the number on the taken out card is 
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 (i) a prime number less than 10. 

 (ii) a number which is a perfect square. 
 dkMZ] ftu ij 5 ls 50 rd dh la[;k,Wa vafdr gSa] ,d cDls esa j[k dj 

vPNh çdkj ls feyk, x, gSaA cDls esa ls ,d dkMZ ;kn`PN;k fudkyk x;kA 

fudkys x, dkMZ ij fuEu ds vkus dh çkf;drk Kkr dhft,% 

 ¼i½ 10 ls NksVh ,d vÒkT; la[;k 

 ¼ii½ ,d iw.kZ oxZ la[;k 

SECTION C 
[k.M l 

 Questions number 16 to 25 carry 3 marks each. 
 ç”u la[;k 16 ls 25 rd çR;sd ç”u ds 3 vad gSaA 

16. Prove that 3 is an irrational number. 

 fl) dhft, fd 3  ,d vifjes; la[;k gSA 

17. Use Euclid’s Division Lemma to show that the square 

of any positive integer is either of the form 3m or 3m + 1 

for some integer m. 
 ;wfDyM foÒktu çesf;dk dk ç;ksx djds n”kkZb, fd fdlh /kukRed iw.kkZad 

dk oxZ fdlh iw.kkZad m ds fy, 3m vFkok 3m + 1 ds :i dk gksrk  

gSA 

18. The sum of the 4th and 8th terms of an A.P. is 24 

and the sum of the 6th and 10th terms is 44. Find the 

first three terms of the A.P. 
 fdlh lekUrj Js<+h ds pkSFks ,oe~ vkBosa inksa dk ;ksxQy 24 gSA rFkk 

NBs ,oe~ nlosa inksa dk ;ksxQy 44 gSA bl lekUrj Js<+h ds çFke 

rhu in Kkr dhft,A 

19. Solve for x and y : 

 x rFkk y ds fy, gy dhft, % 

  
2 2

2 2

( ) ( ) 2

( )( )

a b x a b y a ab b

a b x y a b

− + + = − −

+ + = +
 

   or 

 Solve for x and y : 

 x rFkk y ds fy, gy dhft, % 

  
37 43 123

43 37 117

x y

x y

+ =

+ =  

20. Prove that :fl) dhft, fd % 

 2 2 2 2(sin cos ) (cos sec ) 7 tan cotecθ θ θ θ θ θ+ + + = + +  

    or 

 Prove that : fl) dhft, fd % 
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 sin (1 tan ) cos (1 cot ) sec cos ecθ θ θ θ θ θ+ + + = +  

21. If the point P(x,y) is equidistant from the points 

A(3,6) and B(-3,4), prove that 3 5 0x y+ − = . 

 ;fn P(x,y) ,d ,slk fcUnq gS tks fcUnqvksa A(3,6) rFkk B(-3,4) ls 

lenwjLFk gS] rks fl) dhft, fd 3 5 0x y+ − = . 

22. The point R divides the line segment AB, where A(-

4,0) and B(0,6) are such that 3

4
AR AB= . Find the 

coordinates of R. 

 ,d fcUnq R js[kk[k.M AB dks] tgkWa A(-4,0) rFkk B(0,6) gS] bl çdkj 

foÒkftr djrk gS fd 
3

4
AR AB= . fcUnq R ds funsZ”kkad Kkr dhft,A 

23. In Figure 5, ABC is a right-angled triangle right-

angled at A. Semicircles are drawn on AB, AC and BC as 

diameters. Find the area of the shaded region. 

 vkd`fr 5 esa] ABC ,d ledks.k f=Òqt gS ftles 90A∠ = o a  AB, AC 

rFkk BC dks O;kl ekudj v/kZo`Rr [khaps x, gSaA Nk;kafdr Òkx dk {ks=Qy 

Kkr dhft,A 

A

B C
3 4

 

24. Draw a ABCV with side BC = 6 cm, AB = 5 cm 

and 60ABC∠ = o . Construct a ' 'AB CV similar to ABCV such 

that sides of ' 'AB CV  are 3

4
 of the corresponding sides 

of ABCV . 

 ABCV  dh jpuk dhft, ftlesa Òqtk BC = 6 lseh, AB = 5 lseh 

rFkk 60ABC∠ = o .  f=Òqt ABC  ds le:i f=Òqt ' 'AB C  dh jpuk 

dhft, ftlesa ' 'AB CV dh jpuk dhft, ftlesa ' 'AB CV  dh Òqtk,W 

ABCV  dh laxr Òqtkvksa dk 
3

4
gksaA   

25. D and E are pints on the sides CA and CB 

respectively of ABCV  right-angled at C. 

 Prove that 2 2 2 2AE BD AB DE+ = + . 

 fcUnq C ij ledks.k f=Òqt ABC dh Òqtkvksa CA rFkk CB ij 

fcUnq D rFkk E Øe”k% gSaA fl) dhft, fd 2 2 2 2AE BD AB DE+ = + - 

or 



                                                                                     
                                                       

Agyat gupta  (TARGET MATHEMATICS) 
Visit us at : http://www. Agyatgupta.com; 

Email:agyat99@ygmail.com. 
Resi.: D-79 Vasant Vihar ; Office : 91-Laxmi bai colony  

Ph.: 4010685®,2630601(O)Mobile : 9425109601; 9907757815
PREMIER INSTITUTE for  X , XI & XII .© publication of any part of this paper is strictly prohibited. 

 

Agyat gupta  (TARGET MATHEMATICS) 
Visit us at : http://www. Agyatgupta.com; Email:agyat99@ygmail.com. 

Resi.: D-79 Vasant Vihar ; Office : 91-Laxmi bai colony  
Ph.: 4010685®,2630601(O)Mobile : 9425109601; 9907757815 

PREMIER INSTITUTE for  X , XI & XII .© publication of any part of this paper is strictly prohibited 

 In Figure 6, DB BC⊥ , DE AB⊥  and AC BC⊥ . Prove that 
BE AC

DE BC
= . 

 vkd`fr 6 esa] DB BC⊥ , DE AB⊥  rFkk AC BC⊥  fl) dhft, 
BE AC

DE BC
= . 

E

A

C

D

B  
SECTION D 

[k.M n 

 Questions number 26 to 30 carry 6 marks each. 
 ç”ua la[;k 26 ls 30 rd çR;sd ç”u ds 6 vad gSA 

26. A motor boat whose speed is 18 km/h in still water 

takes 1 hour more to go 24 km upstream than to return 

downstream to the same spot. find the speed of the 

stream. 
 ,d eksVj oksV] ftldh fLFkj ikuh esa xfr 18 fdeh@?kaVk gS] dks cgko 

¼/kkjk½ ds foijhr 24 fdeh dh nwjh r; djus esa] /kkjk ds lkFk mlh nwjh dks 

r; djus esa yxs le; ls] ,d ?kaVk vf/kd yxrk gSA /kkjk dh xfr Kkr 

dhft,A 

       or 

 Two water taps together can fill a tank in 3
9

8
 

hours. The tap of larger diameter takes 10 hours less 

than the smaller one to fill the tank separately. Find 

the time in which each tap can separately fill the 

tank. 

 nks ikuh ds uy ,d lkFk ,d Vadh dks 
3

9
8

 ?kaVs esa Òjrs gSaA cMs O;kl 

okyk uy Vadh dks vyx&vyx Òjus esa de O;kl okys uy ls 10 

?kaVs de le; ysrk gSA çR;sd uy }kjk vyx&vyx Vadh dks Òjus 

ds fy, le; Kkr dhft,A 

27. Prove that the ratio of the areas of two similar 

triangles is equal to the ratio o f the squares of their 

corresponding sides.  

 Using the above, do the following : 

 The diagonals of trapezium ABCD, with AB DCP , 

intersect each other at the point O. 

 If AB = 2 CD, find the ratio of the area of AOBV  to 

the area of CODV . 
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 fl) dhft, fd nks le:i f=Òqtksa ds {ks=Qyksa dk vuqikr mudh laxr 

Òqtkvksa ds oxksZ ds vuqikr ds cjkcj gksrk gSA 

 mi;qZDr dk ç;ksx dj fuEu dhft,% 

 ,d leyEc ABCD, ftlesa AB DCP gS] ds fod.kZ ijLij fcUnq O ij 

çfrPNsn djrs gSA ;fn 2AB CD= gSa] rks AOBV ds {ks=Qy dk CODV  ds 

{ks=Qy ls vuqikr Kkr dhft,A 

       or 

 Prove that the lengths of the tangents drawn from a 

external point to a circle are equal. 

Using the above, do the following : 

In Figure 7, TP and TQ are tangents from T to the circle 

with centre O and R is any point on the circle. If AB is a 

tangent to the circle at R, prove that  

TA + AR = TB + BR. 
fl) dhft, fd o`Rr ds ckâk fcUnq ls o`Rr ij [khaph xbZ Li”kZ js[kkvksa dh 

yEckb;kW leku gksrh gSA  

 mi;qZDr dk ç;ksx dj fuEu dhft,% 

vkd`fr 7 esa] TP rFkk TQ Li”kZ js[kk,W gSa tks ckâk fcUnq T ls O dsUnz okys 

o`Rr ij [khaph xbZ gSa rFkk R o`Rr ij ,d vU; fcUnq gSA ;fn R ij AB  

o`Rr dh Li”kZ js[kk gS] rks fl) dhft, fd TA + AR = TB + BR. 

P

T

A

B
Q

o R

 
28. A tent consists of a frustum of a cone, 

surmounted by a cone. If the diameters of the upper 

and lower circular ends of the frustum be 14 m and 

26 m respectively, the height of the frustum be 8 m 

and the slant height of the surmounted conical 

portion be 12 m, find the area of canvas required to 

make the tent. (Assume that the radii of the upper 

circular end of the frustum and the base for 

surmounted conical protion are equal) 
 ,d VsUV dk vk/kkj “kadq ds fN™kd ds :i esa gS ftldk Åijh Òkx 

“kaDokdkj gSA ;fn fN™kd ds Åijh rFkk fupys o`Rrkdkj fljksa ds 

O;kl Øe”k% 14eh rFkk 26 eh gSa rFkk fN™kd dh ÅWapkbZ 8 eh gS rFkk 

Åijh yxs “kaDokdkj Òkx dh frjNh ÅWpkbZ 12 eh gS] rks VsUV dks 

cukus okys dSuokl dk {ks=Qy Kkr dhft,A ¼;g eku yhft, fd 

fN™kd ds Åijh o`Rrkdkj fljs rFkk “kaDokdkj Òkx ds vk/kkj dh 

f=T;k leku gSa½ 
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29. The angel of elevation of a jet fighter from a pint a 

on the ground is 60o . After a flight of 15 seconds, the angle 

of elevation changes to 30o . If the jet is flying at a speed of 

720 km/hour, find the constant height at which the jet is 

flying. [Use 3 =1.732] 

Òwfe ds fdlh fcUnq  A  ls ,d yM+kdw tsV foeku dk m™k;u dks.k 60ogSA 15 

lsd.M dh mM+ku ds ckn] m™k;u dks.k 30o gks tkrk gSA ;fn tsV foeku 

720 fdeh@?kaVk dh xfr ls mM+ jgk gS] rks Kkr dhft, fd tsV foeku 

fdl vpj ÅWpkbZ ij mM+ jgk gSA [ 3 = 1.732 yhft, ] 

30. Find the mean, mode and median of the following 

data : 
 fuEu vkWadM+ksa ds fy, ek/;] cgqyd rFkk ekf/;dk Kkr dhft, % 

CLASS – INTERVAL   
oxZ 

FEEQUENCY
ckjackjrk 

0-10 5 

10-20 10 

20-30 18 

30-40 30 

40-50 20 

50-60 12 

60-70 5 

 

    ****************** 


